SuMmpPO v Third party verified

. E p D Environmental Product Declaration
[ )

JAPAN Confromance with

VERIFIED 1SO14025 ’ 1SO14040 ’ 15014044
SUMPOERIEINIL SO A (SUMPO EPD)

( CHIKUMA & CO.LTD. ﬁiﬁ%*ia:a 7

Chikuma Co.,Ltd.

TE2082I ¥y
TE2082 jacket

BEHRES RIEAEHE NS IREEE ShEARS EPDY1 S
SuMPO-EPD-2603-116-1 2026/3/11 2026/3/25 2031/3/10 JIV-TEREPD
XEFSNESEEHRARAB
EANDEERIER 1L EPDIZIRSEEARI CH-TE. EHELEAMARIE L BRIERBYET,

EPDORFHRE LU B EERERT BT T ERERLTLESL,
https://ecoleaf-label.jp/epd/search



Z#HHES) SUMPO-EPD-2603-116-1

Environmental Product Declaration for TE2082 jacket

Q@ EXKIBIR
> 7095 L1EER
T0J3 L%
TOISLARL-5-
FRTEH
1791 b

> GPI-PCRIE$R
GPI
PCRAFR
PCREHE S
PCREREH
LE1-KRIVEER (FIE)
PCREZNHAIR
PCR¥EITH

> fREEIRER
RELDESR

REEEEE (FTE)

> BEPLIRE
HEYLIFAK

SUMPOIRIESANIL OIS A
—MAEEAT AT IR EHEERE
EREABTREXAMHET-14-8 KANDA SQUARE GATE 4F
https://ecoleaf-label.jp

SuMPO EPD Japan General Program Instructions v.2.1.1
TR R O B AR B B (RAAE R - RAR BB MERRS)
PA-780000-CN-01

2024 /10 /22

8 BT (GIAEEKRY)

2029/ 10/21

— AR AY AT T IR EHEEE S

ISO14025(ZHE o758 = & HRiEL

O AEB [ N
- MREEEICLD 0 IREEHERIC KB
B=HWRIL F=FWREL

i BE (TIAEIRRT7IHR-)

B [1SO14040:2006 B [SO14067:2013
B 1SO14044:2006 B [SO14027:2017
B [SO14025:2006 L] 1SO21930:2007

SuMPO

..EPD

JAaPAN

VERIFIED

EPDY AT 1525
([CKBFE=FHMRET

EPDICEE HODIEHR R UEPDICEEHOIFRICEAT ZREET RICDOVTOE T FEPDEE BEENMFEET, EPDORNARICET TR, RS
IEIIDW TS, EPDEISEHEEF THRIVEDELEAL,
EPDOLLET, B ROMEREE+ 2 ICE B LE L TERESNZINEZESHEWES, BRAOITMIV1 VI eikEzEEL. RE0RE&EEELEYTY
AZBEALTVWVZRENHYET, EPDDLLEDIRICE BINEXHEAREENMER T ZPCRES B LTS,
EPDDLLER AT BEE (T, BEBEBEAIZBERALTVWAEDICRESNET,

RIS ETAR R IH<ETHENHBERETT, BEORZSCLVBRIBEADFEEZ R ITOSNZEOTREHYE A, £, BELEEE
FREAOEFNEZEOAZIPLLE (BRELZBBLTVNGNE) ( URVFHE REPABICCNLTOZEEZREINE) 2EHERTE

DTIEBHYEEA.

MEFIERVEEEDS S, J1IVM 7B FMERROI1IV1TIVA YRV IS FEER R, REYBEERR,. HAJ0-(CBET %R
BERE FEOHRIOVTOIERTEHYEEA.

@EPDEUSEEE B

E¥EL-TEL
Ein
HIAY=Y kel
LCABEEEE (FTE)

EXREBE

MASHTFIV BEHES
RRBPRXEAAREAETI -7 — 2
03-3667-5335

BASHFIN  FiHeA

A, EYRRAZTA-L, AT-VAZT4- L BARDERREM RUPERERD,

BIZ1903FE28 EBAE6(E7,9007H REEEH210%


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

Z§%%S) SUMPO-EPD-2603-116-1 SuMPO

Environmental Product Declaration for TE2082 jacket '. E p D

AAAAA

VERIFIED

Q& LIFIR
B RATR TE2082Y v/ bk
SEDE TE2082-2 £ GERME
BEBEE  0517kg BERIK

ry S GtEe  BUEAYvIYb (KR 1ZJ4-L)
HROAE FHERIZIA-A
BifitEge  ARLYFIE- B O
- FRFHGERERFIPCRHBEDSLY [1Z74-L]— [FEHERI-TI59- Uy
4 e 2 Tyb, RAR) &V 3%
FAZXE EHRI1IZIA-LELTER
FEHEZELRM PCRITEEDLY
SEY N (BUERS) BETHN\THD (REEFFES)
MEE DERATIZIA-L Jvbybk
& AR 5 - R EKER
o AVt Th  MEEM e TV EmI U, DEMEEAIRTZ31-J4-14
AEEE, BEOMA-JH EEREESDRBLEMERBOERRZBNELEEKRL
ZIA-LTY, A -BEPTE-AVTFVARCENEZMERBL. RERERCH
WTEREMEHIFLET,
S RIITHA

OMEIRUMEICETIERER

HRERESR 2E (%) B5E
RUTIATIV 91.8 047
8 45 0.02
ES 2.0 0.01
-3 1.7 0.01
10V 0.0 0.00

DEMERESR E (%) B
iy 48.0 0.10
RUIZTI 42.1 0.09
wRUFOELY 9.9 0.02
10V 0.0 0.00

OEYHKKFZESEE
IHH EHE (kg-O EHE (kg-CO: eq)

HmbYDEYHERREFE -
RHTICDIZAEREMOEYHRRRRERE - -



2$3%&5) SUMPO-EPD-2603-116-1 SuUMPO

Environmental Product Declaration for TE2082 jacket

OLCA BEER
>EPDY1 153k
RIS
EPDIAS  YAIAT
PRk
Hh3ER Y &0 B

BB R /EHY b
*2TEPDICHITD
KRR MDA
BHRER/EHT S
OEPDICHITE. EEHRER
1))

BB MEPDOR A

> LCABIEEIR
HEBE B AL
SEEHEMEEVOEE
(BENOMEREK)
HEEIO- (MEeENZWETL
HICHEHREZER)
JIATLIER
LCAYI+DIT
LCIT =T NR-Z
L ET IV
ZOMONYIIZTIIRT -5
ZRT-HEE
—RT-FUNEH =
—RT-FUNE AR
YRR RO KL
o i
f&a%a
YN =]
FITTT

BAHEKIC
ESERAE

> B E N RERPE
AT RL R E

|WEPD
0 H-—&fH B TR O ZEREH

B FEYMh O #\HEY

O $HEE B NEFHE O f%*xE O _EBRf&E
AEGREEHALEMITT,

AREPDTRUWREREEELTVBEEY M ST -FINEE{TOTWS 0, RFKIER
BREINTVS, I BULLERE ERI-T) 0P T mERKN., H30\EF
HNRRIBEFEF OE0EAKRERELTEELTVS,
AERZREIIHEREANAOU R, 1 D2THhd, HECAVSERPITIHRRDEE

CEVEERRICERNHIN WRILOEEREROERD HROFRERLENT
ET10%URICINE S,

BE=20.517kgDIS YA XTI Ty MBIZBITB1EDER
Jviry bk, A6, 0.517kg

15

[] Cradle-to Gate
MIiLCA for EPD3.2.0.0
AIST-IDEA _Ver.3.5.1
SUEZE) : IPCC 2013 GWP 100a, ZDDFZEME : LIME2

[0 Cradle-to-Gate with options | H Cradle-to-Grave

GPICRED=RT-FmBEEHLLLT-YZRMVWTEEEITo1,
HAREN\ENT (RIBRFFED)
202556 3 1H~2025%F12F25H

W 0/0770-F

B EPisoFHanNaENIvIA
=mE ®E

202553/ 17H

A BT

O -1/+1770-F
O Z0ft

fEF - HEHF =& (Eol)

B EENR - EENRA



SuUMPO

Z#HHES) SUMPO-EPD-2603-116-1 E p D
.0

AAAAA

Environmental Product Declaration for TE2082 jacket
VERIFIED

>707-v3y

AEE T, GPICREOFIETTOCLAOM MBSV T O -V 3V ERET U, HRTOCANSHEHE SN ERE
B REARIVTY ORFMELFERETHE0. WBETOT-Y3VEITol, RETHEOEROESR. 1A &

Joa—N

HKERAESLUEM<KTOREEEZ. AIVTVNOERMBEEES FRAREERS (HEREE0) E8
DEETEDLL,

>Ny bAT

GPIRUPCRICEDIEREEITol, NYMIERES % NYM I RET IR, TOTABLUT0- HIEERRIC
b1IB91 MEOEIXEM,

>YATLRR

GPIRUPCRICEDEREEIToI, BV ATLAERIZ100ETH S,

>IFUA

FEM R OEEQEHXEBEN DAL NI B, TBER R, BEERPEOEXFIPCROY T IAZERLR,

>BHETVVY

WRETDETDIAITYATIVERBECHEVT, 2018F[CH T2 BARTHDRFEE DT -IEAVEEZITO



Z$%%&S) SUMPO-EPD-2603-116-1 SEUMﬁO D
o o oncstontor TE2082jacket 1=
VERIFIED

>34 70-K

ERMITER
(€-7::))




E#REFS) SUMPO-EPD-2603-116-1

Environmental Product Declaration for TE2082 jacket

OEERR
> 54 TY1 VB BT R

motmen SRR OB

SUREH) kg-CO.eq = 1.60E+01 | 5.24E+00 | 2.75E-01

AV EREIE kg-CFC-11eq, 3.58E-06 = 6.98E-07 = 1.22E-08

[Zge 24 kg-SO.eq = 1.69E-02 = 4.54E-03 | 6.78E-04
ARG E kg-SO.eq - - -

FHACFEAFT VIV NERK, kg-C-Hseq = 2.50E-04 = 5.90E-05 1.82E-06
BEEEMEED AN kg-CsHeeq - - -
BEEYE(1EM) kg-CsHseq - - -
KEEREE M kg-CsHseq - - -
BEd A REE M kg-CeHseq - - -

EREL kg-PO.>eq 4.96E-04 2.51E-04 = 1.70E-05
=+ R R GHERT) m%/ 5 - - -
T #F B (EE) m?/ 4 - - -
ERHE kg-Sbeq - - -

>F4TH1 WA IR MU S REE R

Eremear SUSERME  TUEERRE

EBERREIR kg | 2.56E-01 | 5.04E-02 1.82E-03
FEB/ERRIRIY- kg | 6.09E+00 1.65E+00 7.77E-02
FEBERMREIRIF- MJ | 2.53E+02 | 7.03E+01 | 3.24E+00

BETEER kg | 1.84E+00 3.27E-03  8.00E-03
BEARBEIRIY- MJ | 4.34E+01 1.83E+01 1.01E-01

RIKDEE m® | 1.91E+00 | 2.16E-03 = 2.40E-02
> BEZEYREEIR
Ernmzan BUSERRE  TRIBERRE
BEREZEY kg 0 0 0
mEREZRY kg | 9.39E-02 | 3.82E-03 = 9.89E-03
—iRERY B kg | 474E-09 | 1.61E-13 | 8.79E-03
EXREEY B kg | 9.39E-02 | 3.82E-03  1.11E-03

KIMTYMINICBIBREEYEBERLTNEY,

> A I0-ICBIT BRIBIER

Rinmzen SOGERRE L@

B FA A AE 5 50 kg — - -

YY1 )V B kg - - -

IRIF-EURAM kg — - -

BEEYHLOHEHE I RILF- M _ _ _
(I)LF—EUREHEK =60%)

R PIDBA BEVHEHLHE kg | - - -

(TRIF-[EEHER < -
60%) IEI”XI;?‘”/#_ M.J - - -
RO BERMEIASE kg | - - :
(BEYOBIIICKYFKETS

IBIAZNSOIRIF-E ERIRILF- | M

SuMPO

..E PD

JAPAN

VERIFIED

5 - HERFER B BEEUSAIVERRE
1.25E+00 | 1.49E+00
1.01E-06 @ 4.31E-09
9.15E-04 | 1.74E-04

2.20E-05 | 4.58E-07

R - MEFRERDE  BERU U1 OV BRBE
1.82E-02 @ 1.97E-03
4.58E-01 @ 1.23E-02
2.12E+01 | 5.24E-01
1.02E-02 = 2.88E-04
4.24E+00 | 7.87E-02
3.88E-02 | 8.42E-05

PR - HERFER RS BESzU YA OIVERRS
0 0
1.46E-03 | 2.78E-02
3.74E-12 | 2.76E-02
1.46E-03  1.48E-04

B - MERFERBE BRI IVERRE




Z#HHES) SUMPO-EPD-2603-116-1

Environmental Product Declaration for TE2082 jacket

>LCAEERRICEAT 35400
FREYEREREIPCREBEDLY [1ZJ4-Ll— [BHRI-TV59- TvTyb RAK) &Y 38
PCRIBECKY [1Z7A4-Ll— [EBHBRI-TI9- (JvTyb RN &Y REEEEM7E, R317U-ZV

J2EELTEE,

BE. [MIOBEMATEELTWSRMEIZF R EEZEE0
PCRITEEELY DIREBEAEFEEN

(kg) BEE D2 EEDEBINEHROTE
BEFIIXTHBA6H1X (0.517kg) DEEBRERL TN, BRATEYIAERIE. A3 0.460kg A4 0.488kg
0.498kg A6 0.517kg A7 0.532kg A8 0.549kg B3 0.471kg B4 0.492kg B5 0.514kg B6 0.534kg
0.557ka B8 0.575kgTHY. BEHI1ADI1ITH1Y)

W5,

FETMERE RS, PCRITEEDICAREL UTOFERICEYHETLT

[SIEZ S IPCC 2013 GWP 100a)] =2.42E+01xB/A

[#YV>Y EmiE] =5.31E-06xB/A
EXRB1{t] =2.87E-03xB/A

[BstE1] = 2.32E-02xB/A

[FlbZFAFIH VM) =3.33E-04xB/A

A ZEGSIAOHGEESE (kg) =0.435kg

B: I -TRIZDEZEE (kg)

=980

=

SuMPO

E

VERIFIED

EXIBRIREENHBZDTEENLETH B,
THE A ADREEFxIIADHREE (kg) +HEVIADHRES

B7

HA X
TA 7Y A JIINEETHEER j==Fiva A3 A4 A5 A6 A7 A8 B3 B4 B5 B6 B7 B8
0.460kg | 0.488kg | 0.498kg | 0.517kg | 0.532kg | 0.549kg | 0.471kg | 0.492kg | 0.514kg | 0.534kg | 0.557kg | 0.575kg
SMEZ®) IPCC 2013 GWP 100a |kg-CO2eq 2.15E+01| 2.28E+01| 2.33E+01| 2.42E+01| 2.49E+01| 2.57E+01| 2.21E+01| 2.30E+01| 2.41E+01| 2.50E+01| 2.61E+01| 2.69E+01
F Vv EBmE kg-CFC-11leq | 4.73E-06| 5.01E-06| 5.11E-06| 5.31E-06| 5.46E-06| 5.64E-06| 4.84E-06| 5.06E-06| 5.28E-06| 5.48E-06| 5.72E-06 5.9E-06
BRENL Kg-P0.%-eq 2.55E-03| 2.71E-03| 2.76E-03| 2.87E-03| 2.95E-03| 3.05E-03| 2.62E-03| 2.73E-03| 2.86E-03| 2.96E-03| 3.09E-03| 3.19E-03
e (4 Kg-S0.eq 2.06E-02| 2.19E-02| 2.23E-02| 2.32E-02| 2.39E-02| 2.46E-02| 2.12E-02| 2.21E-02| 2.31E-02| 2.40E-02| 2.50E-02| 2.58E-02
HAFAF L b Kg-CzH.eq 2.96E-04| 3.14E-04| 3.21E-04| 3.33E-04| 3.44E-04| 3.53E-04| 3.04E-04| 3.17E-04| 3.31E-04| 3.44E-04| 3.59E-04| 3.70E-04
@ ENDRIEREIFIR
> LCAICBIEL B VB INDBIREIR
>HEWEICET31ER
BEYEL CAS No. BRINZEELITRHDSE

PD

JAPAN




ORFENER

@&k

+1SO14025:2006 Environmental labels and declarations — Type Ill environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

O EE



